902sh Le Rhone Shawl

Suggested yarn:
« Pierrot Yarns Le Rhone [85% ramie, 15% linen; 202 yds/185m per 1.23 0z./35g skein]; color #10 prune, 6 skeins [205¢]

Tools/Notions:
+4.5mm (US 7) knitting needles or size necessary to achieve gauge
+ 3.0mm (approx. US C or D) crochet hook or size necessary to achieve gauge

Finished measurements:
* width 73cm/28.74"
* length 173cm/68.11"

Gauge (10cm/4" square):
* pattern stitch: 20 sts and 28 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

-----------------------------------------------------------------------------------------------------------------------------------------------------------------

Knitting Tips
Body of Shawl: Cast on with long-tail cast-on method. Work 480 rows in pattern stitch. Loosely bind off in pattern.

Finishing: Work 1 round of sc around outer edges of shawl.

Abbreviations:

BO = bind off

CO =caston

k = knit stitch

p = purl stitch

sc = single crochet (US)

-----------------------------------------------------------------------------------------------------------------------------------------------------------------

© 2013 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.



Shawl schematic
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edging: 158 sts
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Pattern stitch
4 5mm needles
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7-st repeat

% Alternatively, purl stitches at each end.



